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BF X% Wieg/ <0.005 <0.005 |
By 7 Umg/ N.D. N.D. i
R L8 N.D. N.D. |
Fﬁ 8 | mes 2 <0.05 <0.05 |
2 L(BMH) |mg/f <0.02 0,02 [
78| | me/ 0 <0.02 <0.02 |
1 [ Kk e <.0008 <.000 {
EIERER N iﬁng/Q |
P C B|mg/@ N.D. | <3| N |
P H - 79 7.7 81 80 83 8d 7.1 794 7.8 8d 7.4 7.3
¥ D 0| me/ 0 99 9.0 84 80 78 7.4 874 8d 9.d 1.4 124 109
B O Djmg/l .0 <0.8 <«.5 07 09 o9 o7 1.d o8 0.8 07 1.9
BWC 0 Dlm/p 2. 24 23 t4 28 24 23 21 2.0 24 2.8- 2.8
S S| mg/ £ | o« < o o« |« e o« g
T A B & 2% 8] HPN/100wg 2.3601] 0.5€01] 0.2€01] 1.4€01) 5.4€09 1.3609 2.2604 1.7€01] 1.3€01] 0.2E01] 0.0804| 0. 2£01]
B n—Hex ng/ § ' |
£ 2 FHwd 0.2 0.20 0.1 0.04 0.09 0.08 0.0 0.1 0.1 0.15 0.20 .14
2 #{ mg/ 2 0.012 0.0i6 0.010 0.008 0.01Q 0.010 0.0t 0.01) 0.00d 0.011] 0.001 0.010
i | mg/ £ | |
Tx /=N |ng/ @ |
. _§8 mg/ £ <0.01 <0.01 |
HE £ mg/ R <0.01 <0.01 !
FEC 7 W0 ) me/ |
N (PR mg/ £ <0.05 <0.05 |
My O Almg/P <0.01 ~<0.01
7y T el
PAAT 4 B R me/ D 0.004 0.002 0.001 0.007 0.0224 0.003 0.005 0.007 0.005 0.015 0.069 <0.001
TH WNEE @ W me/ Q| <0.001] <0.001| <0.001] <0.001} <0.001] <0.001] <0.001| <0.001] <0.001] <0.001] 0.001] <0.001
R 0.015 0.008 0.008 0.004 <0.001 0.010{ 0.001| <0.001] 0.018 0.0i6 0.005 <0.001
# B M tmg/R | <0.003 <0.003 <0.003 <0.003 <0.008 <0.003 <0.003 <0.003 <0.003 <0.003 0.003 <0.003
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Y 7 Ye/B N.D. N.D. i

H OO Heg/ N.D. N.D.
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2 28 Fre/R 0.4 0.3§ 0.49 0.19 o0.14 0.1 0.43 0.48 0.99 0.37 o0.d 0.31

£ tt] mg/ 2 0.018 0.01 0.039 0.017 0.008 0.008 0.013 0.011] 0.008 0.008 0.004 0.007

H 5 mg/ D

T —0VE |me/ D

5A mg/ P <0.01 <0.01
o i 84 mg/ 0 <0.01 <0.01

S( @M ) mg/ R

Ny (IR me/ @ <0.05 0.11 |
My @ hlegs <0.01 <0.01 |

7 v e/ |

TUEIP B omg/ L 0.008 0.02¢ 0.003 0.004 .0.02¢ 0.012 0.07¢ 0.092 0.044 0.027 0.002 0.003
XH| TR 5 3 me/ R 0.004 0.002 0.004 <0.001] 0.001 0.002 0.005 0.008 0.005 0.003 0.003 0.003

WS T e/ 0.068 0.078 0.014 <0.001 0.004 0.08§ 0.143 0.172 0.211] 0.19 0.205 ©.160)

2 OB R e/l "0.005 <0.003 0.010 <0.003 0.003 <0.003 <0.003 <0.009 <0.003 <0.003 <0.003 0.004
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& B me/ L
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— 113 —



ﬂ#iﬁ?kﬁ?kﬁj!‘lﬁﬁﬁi

HiE H O W WEBLME o BoE

MRBORSHR—FD) | # 3 w o ( 502-51 ) I
(FERA2] { A4 ]

% A B | 514 528 T/11| /18] 8/21| 9/11{10/17 | 1119 | 12217 ] 1/16 | 2720 3718

# WIEES BRANESZY | 1505 | 14:50 | 10345 | 13:27 | 13:37 | 14:04 | 13:55 | 11:40 { 13:55 [ 14:15 | 12:30 | 13:15

s | - My %% ) 5| w| o B B x| m

. B C 2. 18.3 28.0 29.5 33.0 29§ 17.§ 9.3 80 6.0 4.9 12.0
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PMHE B | w/
| R - |

MBEREE | en [ ]
Bl =z | 'm | 1
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HE I Llmg/Q <0.005 <0. 005

Y 7 Umlf N.D. N.D.
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# mg/ @ <0.05 <0.05

P OL(BE) | me/ R <0.02 <0.02

R 5 me/ 0 <0.02 <0.02 !

B Kk W/l <.0003 . <.0005 |
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P Hl - 8.1 8¢ 9.2 93 83 81 7.4 7.4 7.8 8d 7.8 7.9
# D O mg/ 0 9.3 8.8 9.4 98 79 79 64 89 94 1.4 10.d 10.9
#B O Dlms/p 24 2.0 1.3 3.4 1.4 1 1.2 .o od .0 24 1.2
WC O . Djms® 4. 3.2 3.7 3.4 34 34 29 32 2d 3.4 40 3.1
s Sj me/ £ P ]« 1| I 1 1 1 <1 g 1
B K B3 B B¢ ¥ HPN/100w0) 3.3E02 1.7602 4.9602 9.0€02 1.1€03 1.3609 4.9E02 2.4809 1.6€03 7.9¢01] 3.3E01] 3.3E01]
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£ 4 mg/ 0 0.018 0.0200 0.037 0.018 0.010 0.014 0.014 0.014 o.011 0.00d o0.014 o0.004
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Tz /- | melf

5 mg/ <0.01 <0.01
o 8 mg/ <0.01 <0.01

(@ MeEE ) m/R
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Wy o dlm@ <0.01 <0.01

7 Y ¥ mg/ @ ) .

PAT R e/l 0.011] 0.01§ 0.022 0.006 0.025-0.0200 0.138 0.081] 0.077 0.025 0.088 0.001
TE) EHRNERME B X mg/ 0 0.004 0.002 0.003 <0.001 0.004 0.004 0.007 0.003 0.005 0.004 0.004 0.003

OB Mt R X mg/ 0.0700 0.054 0.017 <0.001] 0.008 0.048 0.103 0.181 0.185 0.189 0.200 ©.170)
OB M e/ 0.005 <0.003 0.011 0.003 <0.003 <0.003 <0.003 <0.004 0.003 <0.003 0.003 <0.003
Bl A B S| mg/ R <0.02 0.04

X X B pU/em 133 138 1400 140 13§ 137 14§ 143 129 149 145 147
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HE XY e/ <0.005 <0.003
Wy 7 e/l N.D. N.D.
T OB ng/ R N.D. N.D.
H £ ng/ § <0.05 <0.05
S OL(BE) |ag/l <0.02 - <0.02
w T ne/ 0 <0.02 <0.02
B Ok Hwsl | <.0005 <.0005
B7 088k 88 med
P C #Blm/f N.D. "N.D. |
p Hf - 8.1 82 84 81 874 88 88 80 7.9 71 71 7.4
%D . Olmg/@ 99 98 87 87 &4 81 85 9d .9.3 923 103 11.0
#B O Dim/@ 0. <0.d <. 1.0 0.8 1.0 0.6 0.6 05 <0.§ <0.5 <0.9
WC O Dlm/2 1.4 1.d 2.0 1.8 2.4 33 24 29 2d 1. 1.3 .1.§
1 S S| mes 0 <l o« ol o« d TR
T A M 2% MPN/100mg 1.3E01] 8.0801] 1.3€01] 7.0€01| 7.0E01| 2.4E02 1,301 0.0E01} 0.2€01] 0.0E01] 0.2€01] 0.8E01
B n-Hex mg/ R -
£ B T/l 0.2 0.29 0.2 o0.18 o0.21 0.1 0.4 0.8 0.2 o0.28 0.37 0.24
2 2] mg/ £ 0.008 ©0.005 0.007 0.00§ 0.005 0.008 0.005 0.007 0.003 0.00& 0.003 0.007%
i 43 mg/ R
Fx/—NE |mg/ R
i ng/ £ <0.01 <0.01 |
W E 50f me/ 2 <0.01 <0:0t | [
S 73 B2 M e/ R
WH™Y (FHARIE) mg/ R <0.05 <0.05
Wy o ule/y <0.01 <0.01
7 v = ng/ R ; i
7T 4 B T we/ 0 0.009 0.015 0.008 0.022 0.013 0.008 0.011 0.014 0.018 0.011] 0.06% 0.003
| E TwEE = 2] e/ 0 0.001f 0.001] 0.001 0.001 0.001 0.009 0.001 0.001 0.001 0.001 0.001]. 0.001|
BB M R e/ | 0.128 0.111 0.090 0.094 0.07§ 0.0558 0.061 0.089 0.089 0.153 0.159 0.163
W f MR B mg/ Q| <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
BA B S|lmd <0.02 <0.02 |
o B #HpO/m | 52.0 sa.8 88.0 86.0° s2.6 80.d 81.9 77.0 79.d 87.0 76.00 %6.0
b B mg/ £ ' | |
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x w| - Bl a8 5 5| w| 5| 2| % | £ &

) B C 19.0 18.5 19.8 28.0 22.4 20.3 15,0 7.9 55 3.4 1.5 1.7
— % ;e 16.00 15.9 19.2 22.§ 254 23.7 6.0 10.d 5.8 3.4 4.4d 5.0

94 gl - 161) 162| 161|182 182| o062| 181 | 231 os2| os2| 182] o052
8 | - 192 192 192| 191 91| 91| 1st| 192) 1s2| 192 192| 1s:2

EEER BT |
oo |mmuE | -

Ny % 38 % em
Bl gokE | m

2 K B m

HEHE | m 2.8 28 3§ 2.8 34 358 24 24 2.0 2.9 2.0
BE AR <0.005 <0.005
gy 7 Y N.D. N.D.

E5] . fﬁmg/Q N.D. N.D.
™ # e/ <0.05 <0.05

HEL(EH) |mg/ P <0.02 <0.02
TH ng/ £ <0.02 <(.02

2K e <. 0005 . <.0005
Bl784%8 Kk 4 ng/ R

P C B{ms? N.D. 3 N.D.

P Al - 7.4 88 89 85 88 88 7.4 7.4 7.4 7.4 7.1 7.8
M| D Ol mg/ @ 9.0 95 92 84 38d 83 7.4 85 9.4 1.8 11.d 10.3
8B O Dimg/p g 24 Yy uq 1.3 .4 21 1.4 1.9 od nd 1.4

C O D{m/R 28 28 3.4 349 24 394 271 2.4 29 24 24 2.8
S S|mg/ P 1 y; 1 1 <« o« y. 3 . | 2 3
1| A BB W B ¥ MPN/100nd 7.0801] 4.9€01] 1.7E03 2.0F01 1.3803 7.9801] 1.3€01] 0.8£01] 0.0801] 0.0801| 0.0E01] 0. 2801
Bln—Hex mg/ 0 7

& B  Hl 0.37 0.34 -0.25 o.16 0.1 0.t o0.23 0.39 o0.24 0.2 0.9 0.15

e # mg/ Q 0.023 0.022 0.024 0.018 ©0.018 0.015 6.028 0.028 0.024 0.014 0.013 0.014

i 5H mg/ R | ' |

Jx )Lt |ag/ 0 |

8 g/ 9. <0.01 <0.01 |

3 8 wg/ 0 <0.01 <0.01

B HE e/l

Ny (FEEEE)| me/ 0 <0,03 <0.05
WY o g/ <0.01 <0.01

70w T mep .

TAIT 4 B B me/ R 0.004 0.004 0.002 0.008 0.0i8 0.009 0.006 0.017 0.014 0.013 0.02d 0.003
I TR 2 % me/ R 0.001f <0.001{ <0.001| <0.001f <0.001{ 0.061 0.001 0.002 0.001 0.001 0.004 0.001

B O YR T e/ 0.005 0.014 0.004 <0.001 0.003 0.002 <0.001 0.034 0.027 o0.101 0.042 0.022

OB K e/ 0.004 0.008 0.005 0.004 <0.003 0.004 0.004 <0.004 0.005 0.003 0.00d 0.003
B A B Sim/f <0.02 0.02

¥ B  ®uO/em | 3.0 76.1 79.4 79.4 78.0 75.3 81.8 79.5 85.0 80.§ 75.0 76.0

] B mg/ R }
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x R - L] % -] k5 L5 % ] ® L] K - S

£ g C 19.0 20.0 20.0 28.8 28.§ 235 167 85 4.1 4.2 .0 8.0
— x - 1.9 141 17.8 21.d 25.9 23.9 18.d 1.5 8.9 60 5.9 50

7 Bl - o71| om] os2| o081 | o091} o080 o091 | o71| o72| o8t| 101] 082
A Al - ot on] onn| omm| ott| om| onm| o] ott| oti| o01t]| on

e & | wss '

IE | EEGIE -

MEBRE | com |

B wf BmkZE | m |
2 K & m

HEEE | m 8.5 124 6.4 140 15.0 13.0 16.d 14.5 13.5 13.0 16.10 15.9

AR LY hleg/f <0.005 <0.005

¥ 7 Vel N.D. N.D.

H M e/l N.D. N.D.
mo mg/ R <0.05 <0.05

2L |m/ R <0.02 <0.02

it 3% mg/ 0 <0.02 <0.02

Bk e/l <.0005 <.0005
Bl7asn Kk e/

P C gBlng/y N.D. N.D.

P “H - 7 79 79 74 74 7.1 7.4 74 74 71 7§ 7.8
4 D O| mg/ £ 10.4 94 874 s8d =1 7.1 85 95 97 104 104 108
B 0  Dim/f 0.8 <0.9 <.5 0.8 0.8 07 0.5 <0.5 <0.§ <0.§ <0.§ <0.§
WC O Djm/p o.d o7 1.4 od 19 1 1.d 1.4 1.4 1.7 04 1.9
g S S| me/ <1 <1 < <l < <1 < .« <i <1 <1 <t
T A 8 & 2 % MPN/100w 0,001} 0.0801] 0.0E01} 2.0801] 0.0E01| 2.2601 0.2601] 0.0801| 0.0E0H] 0.0E01] 0-0E61 0.0EOY|
B n—Hex mg/ @

2 B T 0.td o0.19 0.1 o0.18 o.1d o0.08 o0.0d o.04 o0.11 o.11] 0.04 o0.10

£ # ag/ 2 0.005 0.004 0.005 <0.003 <0.003 0.004 <0.003 0.003 0.003 <0.003 <0.003 <0.003

i 53 e/ 2 |

Jx )R |me/ Q) |

[ o mg/ § <0.01 <0.0 1
W& 8 me/ 0 <0.01 <0.01 i

8 7 W 1 )| me/ 2 |

Ny CERRYE) meg/ R <0.05 <0.04
wly o Lm/@ <0.01 <0.01

7 W K nz/ P I

| 7oec7 4 S T me/ R 0.008 0.004 0.008 0.010 0.00§ 0.008 0.007 0.004 0.013 0.0i4 -0.00% <0.00H
1H TREE 2 T me/ § <0.001 0.001 0.001 <0.001] <0.001| 0.001] 0.001 ©0.008f 0.001 0.001 0.001] <0.001]

RN E Rl 0.089 0.071 0.068 0.085 0.059 0.054 0.057 0.024 o0.084 0.079 "0.088 0.090

o OB ORE /X <0.003 <0.003 <0.003 <0.003 <0.003 <0.003] <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
BA B  Sim/f <0.02 ' <0.02 |

® ® = u0/n | 450 965 8.0 47.9 45.0 45.4 43.d 473 a0.d an.4 5.4 419

& 5 mg/ 2 ' |

A RERL: | |
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